Chapter 6 1
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Solve the inequality. Graph your solution.

L.y—-2>3 2. 5+x<52 3.42x-3 4. m+3<2
1 3 5 7.3 2.1
.2+ n<4s .22 -32 L 1L>62 L3521
5.2 n_42 624+n< 38 718>64+z 835 13+k
9. —85<t~ 10 10. r+4<—-07 11. —69> 14 +y * 12. 1.48 — m>-3.13
13. 3p<27 14. —13(> 26 15 £22 16, L <5
17. —6m > —9 18. -3 2-2’? 19. 0.3z<2.4 20. 25> —2.5s
21. 4.82<3.2 22. 0.09d < —1.8 23. 6% > —15 24. —1.8¢<9
Solve the inequality, if possible. Graph your solution.
25. 3x + 5220 ' 26. 6z — 5<13 ‘ 27. 8(t+4)> -8

28. 7—8n<4n - 17

31. 2y +28>20 + 2y

29. 8(m + 2)<4(5+ 2m)

32. 6(~5 + 3p) 23(6p — 10)

Solve the inequality. Graph your solution.

34. 2<y—4<7

37. 15< g(lsa ~9)<30

35. —2:(' <9x 537 .

38. 2u>120rv+2<6

41. 91— 2024tord <t

30.

33.

36.

L

39.

40. —4m<8or2m—2<—12 5 42,
Solve the eQuatibh, if possible. R ‘

43. |x| =8"" 44, ly| = -10 45. |m+6| =5

47. t-7] =21 48. 6|z — 4| =36 49. 4]6s + 11| = 52
51. |5r] +10=15 52. 2|3s+4| = 14 53. —4|7w+2] =32
Solve the inequality. Graph your solution.

55. |x| <3 56. |y| 25 57. |s| > 1.2

59. |x+2|>6 60. |y+3|<5 6l. |8 -m| <3

63. 3|p—3| <12 64. |3g+2| —3=28 65. 2|5a— 1] +3<11
Graph the inequality.

67. y=2x+5 68. y<x—1 69. 4x+y>3

71. 3(x —8) <6y 72, 2x —y=-2 73. y>8

75. x —8<y+2 76. 2x = —2y 77. 3(y - 8)>x—9

4.

46

50

70.
74.

6d—4-3d>14

%(122 - 24) > %(252 — 25)

2§6z—10<20

3r+7<—-50r32<7r+ 46

-n—-1>1lor2n+8>n+8

laz ~ 2| =14

lr+3] —16=-4

: 12'%w—4| —4=8

. al <2
. lan-1| 27

. 4‘§c+2’ <64

x<-5

2k—D=zl1-y

L2(x-Dz24+y




